BRITEX INSTALLATION NOTES

Installation & Trouble Shooting Guide for the:

AR-100
Elsa Arm Rest

ITEM# | Description Notes Qty
1 Base Plate 1
2 Shoulder 1perarm 2
Bracket
3 30mm Washer 1per arm
4 Arm Left x 1
Right x 1
Pivot Mount 1perarm 2

M5 Button Head 2 perarm 4
20mm Screws

M8 Dome Nut 3 perarm 6
M8 Washer 6 per arm 12
Leg Support Tperarm 2
Bracket
10 Bump Stop 1perarm 2
n 35mm Screw 2 per arm 4
12 Leg 1perarm 2
13 Foot Tperarm 2
14 Stud Attached 2
to Leg
15 M3 button Head 1perarm 2

Screw for Arm Pad

16 Blue Arm Pad 1perarm 2

*Included but not shown: Optional Removable Toilet Roll Holder and Additional Toilet Seat Bolts

STEP BY STEP INSTALLATION

Note: @ Below correlate to item# above.

STEP 1: Pre Assembly - Place @SOmm Washer onto
@Shoulder Bracket then add@Arm. Align @ Pivot
Mount and attach onto shoulder bracket and arm piece
with 2 x@ Button Head Screws.

STEP 2: Attach the @ Leg to@ Arm with@ 35mm
Screw & M8 Washer from the inside and fasten with

another M8 Washer and@ Dome Nut.

STEP 3: To Attach @Leg Support Bracket to @Pivot
Mount, place 1 xM8 Washer in between then on the
inside thread @SSmm Screw through Bump Stop
and through the Leg Support Bracket and Pivot
Mount. Fix with 1x M8 Washer Dome Nut to the
Pivot Mount. Attach the other end of the
@ Leg Support Bracket to the Stud (attatached to
the @Leg) with M8 Washer in-between joint and
add externaIMS Washer and fasten with@Dome
Nut.

outside of

visit britex.com.au
for more quality products

A innovating since 1938

STEP 4: Push Blue Arm Pad onto@Arm, align fixing
holes and secure with M3 Button Head Screw for

Arm Pad.
STEP 5 : Repeat the Steps for opposite Arm Rest.

STEP 6 : Remove Toilet Seat, processes may be different
depending on your style. (Additional complimentary
toilet seat extension bolts are included with your arm
rest to help with re-fixing your toilet seat)

STEP 7: Place@ Base Plate on top of Pan. Slide@
Shoulder Bracket underneath and align slots. Fasten
with Toilet Seat Brackets and re-fix Toilet Seat Fixings.
Keep slightly loose until repeated for other side, then
tighten all fixings.

STEP 8: Fasten Toilet Seat then adjust @Feet on the
Arm Rest by screwing down to the suitable height.

Enjoy the ease and safety of using the Elsa Arm Rest!

Last Revised May 2018

MELBOURNE SYDNEY PERTH BRISBANE ADELAIDE
Britex Place Mirra Crt 16 Northumberland Drv  Unit 1/8 Principal Link 19 Manilla St The Britex Group
Bundoora VIC 3083  Taren Point NSW 2229 Malaga WA 6090 E.Brisbane QLD 4169 SA State Office
t (03) 9466 9000 t (02) 95312100 t (08) 9249 5464 t (07) 3363 2400 t1300 764 744

e vic@britex.com.au e nsw@britex.com.au e wa@britex.com.au e gld@britex.com.au e sa@britex.com.au



ITEM# | Description Notes Qty

1 Base Plate 1

2 Shoulder 1Tperarm 2
Bracket

3 30mm Washer 1perarm 2

4 Arm Left x1 2

Right x 1

5 Pivot Mount 1per arm 2

6 M5 Button Head 2 per arm 4
20mm Screws

7 M8 Dome Nut 3 perarm 6

8 M8 Washer 6 per arm 12

9 Leg Support 1perarm 2
Bracket

10 Bump Stop 1perarm 2

n 35mm Screw 2 per arm 4

12 Leg 1perarm 2

13 Foot 1perarm 2

14 Stud Attached 2

to Leg

15 M3 button Head 1perarm 2
Screw for Arm Pad

16 Blue Arm Pad 1per arm 2




